4. M A directive principle and a Right under NREGA

Question Number : 1 Question Id : 1201 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 2 Question Id : 1202 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The Constitution names our country as

Options :
1. ® India that is Bharat

2. ® India that is Aryavarta
3. ¥ India that is Hindustan

4. % India that is Bharat Varsha

Question Number : 2 Question Id : 1202 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 3 Question Id : 1203 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The President of India may consult the Supreme Court under

Options :

1. ® Article 141

2. ¥ Article 142

;. # Article 144

4. ¥ Article 143

i)

Question Number : 3 Question Id : 1203 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 4 Question Id : 1204 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

In which case did the Supreme Court hold that an elected representative convicted for a term exceeding 2
years will lose his office with immediate effect

I

Options :

1. ® LiLy Thomas v }s Union of India

2. ® p ¥ Narsimha Fao v (s Union of India

3. % Keshavanandha Bharati v/s State of Kerala
4. ¥ Vishakha v/s State of Rajasthan

Question Number : 4 Question Id : 1204 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 5 Question Id : 1205 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Article 14 deals with

Options :

1. @ The Right to Equality
2. ® The Right to Property
. ® The Right to Liberty

. ® The Right to Life

W

Question Number : 5 Question Id : 1205 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 6 Question Id : 1206 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
At National level a Ordinance refers to

Options :

1. ® Executive orders passed by the Parliament

2. ® Special Legislative powers of the president

3. ® Decision power by the Supreme Court

4. % Ruling given by the speaker of the Lok Sabha

Question Number : 6 Question Id : 1206 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 7 Question Id : 1207 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The position of the leader of the opposition in Lok Sabha usually goes to the leader of the largest opposition
party which has

Options :

1. ® Atleast 1/5th members of the total members of the house
2. ™ it least 1/10th members of the total mermnbers of the house
3. ® Atleast 1/15th members of the total members of the house
4 ¥ itleast 1/20th members of the total members of the house

Question Number : 7 Question Id : 1207 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 8 Question Id : 1208 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Telangana Peasant Armed Struggle was led by

Options :

1. # Socialist Party



# Tustice Party

Cormmunist Party
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Swatantra Party

Question Number : 8 Question Id : 1208 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 9 Question Id : 1209 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The term "Sustainable development" received emphasis in

Options :

1. #¥ Food and &gricultural Qrganization
2. % World Health Organization

3. % United Nations Organization

4. ® World Commission on Environment and Development

Question Number : 9 Question Id : 1209 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 10 Question Id : 1210 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Committee that recommended the introduction of Panchayatraj in India
Options :

1. % Balwantrai Mehta Cormmittee

2. ® Ashok Mehta Committee

3 #® santanam Cormmittee

4. 8 PV Rao Comrrittee

Question Number : 10 Question Id : 1210 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 11 Question Id : 1211 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The Indian Constitution is a

Options :

1. ® Sovereign, Socialist, Dermnocratic, Republic

2. of sovereign, Socialist, Democratic, Secular Republic
3. ® Sovereign Democratic Republic

4. #® Sovereign, Democratic, Secular Republic

Question Number : 11 Question Id : 1211 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 12 Question Id : 1212 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Residuary power is vested in

Options :

1. ® Union Executive

2. % Union Judiciary

3. & Parliament

4 % State Legislature

Question Number : 12 Question Id : 1212 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 13 Question Id : 1213 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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The first woman to become the President of the United Nations General Assembly

Options :
1. %€ Vijaya Laxrni Pandit

2. ® Indira Gandhi
3. ® Laxmi Sehagal

4. % Sarojini Naidu

https://www.freshersnow.com/previous-year-question-papers/



Question Number : 13 Question Id : 1213 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 14 Question Id : 1214 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The concept of Public-Private Partriership (PPP) is meant

Options :

1. % To promote participation of private people for public causes
2. ¥ Contract between two private parties for public canse

3. ® Contract between Public and Private Party for private cause

4. ¥ Non-involvement of people in public projects

Question Number : 14 Question Id : 1214 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 15 Question Id : 1215 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Narme the first state to introduce Lokayukta
Options :

1. ® Maharashtra

2. % Odisha

. ® Rajasthan

. ® Andhra Pradesh
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Question Number : 15 Question Id : 1215 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 16 Question Id : 1216 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who was the author of "Panditaradhya Charitram”

Options :
1. ¥ Vallabha charya

2 ® Rudradeva
3. € Palkurki sormanatha
4. % Ganapatideva

Question Number : 16 Question Id : 1216 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 17 Question Id : 1217 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Who among the following supervised the construction of Hussain Sagar Tank in Hyderabad
Options :

1. ® Akkanna Madanna

2. ® Taneshah

3. # Syed Hussain

4. % Husain Shah wali

Question Number : 17 Question Id : 1217 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

& 808 T0S° I8 BT ES ) FURSFHE BHY Vo)
HEgI§owTE?

Options :

@ézrc‘ég émsc‘écl
L

DO%gE TV
TV )R IO
e

Question Number : 18 Question Id : 1218 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

All Sagar in Nizamabad district was named after
Options :

1. ® Ali Yavar Jung

2. € Ali Nawaz Jung

. ® Ali Nur Jung

# Mohammad Ali Mirza
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Question Number : 18 Question Id : 1218 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



Q23707 d B’ @OFKEE A58 S WEr?

®® o5rS5208

1 ®

gﬁ@@éﬁ?éaoﬁ
®® Sr&:0H

3 %

26063“’&5 @& 3)30;;

2.

4.

Question Number : 19 Question Id : 1219 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The Architectural style of the Kachiguda Railway Station represents

Options :

1. ¥ Arabic Style

# Dravidian Style
® yesara Style

. A Goethic Style

W

Question Number : 19 Question Id : 1219 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0
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Question Number : 20 Question Id : 1220 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
What was the official Radio of the Nizam State?

Options :



1. ¥ Deccan Radio

. # All Hyderabad Radio
® Nizam Radio

® Golkonda Radio
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Question Number : 20 Question Id : 1220 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 21 Question Id : 1221 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who was the first Chairman of the States Reorganization Commission?
Options :

® K M. Panikkar
. of Fazal Ali

# N N. Kunzru

. 8 DP Dar

LW e

Question Number : 21 Question Id : 1221 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 22 Question Id : 1222 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Name the leader who resigned for the first time his minister's post during the 1969 Telangana Movermnent?
Options :

1. #® Marri Chenna Reddy

2 ¥ T anjaiah

3. & Konda Laxman Bapuji

4. # ]V Narasimha Rao

Question Number : 22 Question Id : 1222 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 23 Question Id : 1223 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Which of the following Organization gave call to Sakala Janula Sarnme?

Options :

1. ¥ Telangana Rashtra Sarriti

2. ¥ Madiga Dangora

3. & Telangana Political Joint Action Cornmittee
4. % Congress Party

Question Number : 23 Question Id : 1223 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 24 Question Id : 1224 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Who was the Chief Minister of Andhra Pradesh during the 1969 Telangana Movernent?
Options :

1. ® Marri Chenna Reddy

2. ® Jalagam Vengal Rao

3 % Kasu Brahmananda Reddy

4 ® p¥ Narsimha Rao

Question Number : 24 Question Id : 1224 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

1969 Svorre trdgd 5°006° BOFINRT SPFHIOB DSE?

Q0B BIN0G
) 23500 305FT°D)
3 50 (2750060

0.0.0 800507

s
3.

4 ®

Question Number : 25 Question Id : 1225 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who was not associated with Gentlerman Agreement from Telangana

Options :

1. ™ Swami Ramananda Tirtha

2. ® Konda Venkata Ranga Reddy
3. ® Marri Chenna Reddy

4 ® py Narsinga Rao

Question Number : 25 Question Id : 1225 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 26 Question Id : 1226 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Revolt of Kitturu Chinnamrna had taken place in
Options :

1. ®¥ Tamil Nadu

2. ¥ Kerala

® andhra Pradesh

€ arnataka

w
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Question Number : 26 Question Id : 1226 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 27 Question Id : 1227 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Who was the founder of the Punjab Nav Jawan Bharat Sabha?
Options :

1. % Hari Singh

2. ® Govind Singh

3. & Bhagat Singh

4 % Guru Ravidas

Question Number : 27 Question Id : 1227 Question Type : MCQ Option Shuffling : No
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Question Number : 28 Question Id : 1228 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Theosophical Society was established in india at

Onptions :

1. ¥ Rama Krishnapuram in Delhi
2. ® Chowrangi lane in Calcutta
3. ® Adavar in Madras

® Dadar in Bormbay

e

Question Number : 28 Question Id : 1228 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 29 Question Id : 1229 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who founded the Aligarh Moverment?

Options :
1. ® Moulana Hussain

2. # Moharnmed Ali



(83}

# Hakim &jmal Khan
4. & Sayyed Ahmed Khan

Question Number : 29 Question Id : 1229 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 30 Question Id : 1230 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Vaikom Satyagraha in Kerala was associated with

Options :

. ® Temple entry

. % Women Liberation

3 P K

. ® Eradication of Child Labour

% Vaishnava Movernent

Y

Question Number : 30 Question Id : 1230 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 31 Question Id : 1231 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



The first Meeting of the India National Congress was held in Bombay in 1885 under the Presidentship of
Options :

1. ¥ Dadabhai Naoroji

2 % 40 Hume

3. ® W.C Banerjee

4. ® Badruddin Tyabji

Question Number : 31 Question Id : 1231 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 32 Question Id : 1232 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

which one of the following set-up provisional government in Kabul?
Options :

1 ¥ Raja Karan Singh and Uddham Singh

® Raja Hari Singh and Sachin Sanyal

¥

W

% Raja Kumar Singh and Rash Bihari Bose

NS

. ® Raja Mahendra Pratap and Barkatullah

Question Number : 32 Question Id : 1232 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

& 808 T0S” B TArSS” &8 OF HEHTYR) FHow d?

Options :

_ 0788 00N B30 B Ponoh
, OPearB0A 0N DN dI°gS
RS M-S VSIS ICTgR VoM i o APSAOINS

07230 oT0lES (DS $o0a80 &) e

o

4 M



Question Number : 33 Question Id : 1233 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

When was the Hyderabad State Branch of Arya Samaj was founded?
Options :

1. & 1892

2. % 1905

® 1920

® 1925

B

Question Number : 33 Question Id : 1233 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

1892
. 1905
. 1920
1925

Question Number : 34 Question Id : 1234 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Which policy was adopted by Wellesley for the expansion of the Eritish Power in India?
Options :

. ® Subsidiary Alliance

—

. ® Doctrine of Lapse

wopa

& Free Trade Policy

S

% Filtration Theory

Question Number : 34 Question Id : 1234 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 35 Question Id : 1235 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Wwho introduced the permanent settlement in India?
Options :
#® warren Hastings
2. ® Lord Wellesley
3. % Lord Cornwallis
4

. ¥ Robert Clive

Pk

Question Number : 35 Question Id : 1235 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 36 Question Id : 1236 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Leading iron ore producing areas in India are

Options :

1. ¥ Ranchi, Palamau

2. 8 Khetri, Singhana

3. ¥ Singhbhum, Mayurbunj
4. % Hazaribhag, Dhanbad

Question Number : 36 Question Id : 1236 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 37 Question Id : 1237 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

In which city the first Green field Airport of the Country was constructed under Public Private Partnership
Options :

1. % Mumbai

2. ® New Delhi

3. ¥ Hyderabad

4 B Chennai

Question Number : 37 Question Id : 1237 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 38 Question Id : 1238 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Bundelkhand comprises districts from

Options :

1. ® Uttar Pradesh and Madhya Pradesh

1

-
4

47¥¢

2. ¥ Uttar Predesh and Rajasthan
3. ®¥ Madhya Pradesh and Gujarat
4. ® Uttar Pradesh and Bihar



Question Number : 38 Question Id : 1238 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 39 Question Id : 1239 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Kaziranga National Park is located in the state of

Options :

1. ¥ West Eengal

2. % arunachal Pradesh
3. #€ Assam

4. ¥ Jammu and Kashrrir

Question Number : 39 Question Id : 1239 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 40 Question Id : 1240 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

River Krishna acts as a boundary between the states of

Options :

1. ¥ Telangana and Maharashtra



2. ® Telangana and Odisha
3. ® Telangana and Chattisgarh
4 X Telangana and Andhra Pradesh

Question Number : 40 Question Id : 1240 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 41 Question Id : 1241 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Through how many districts of Telangana the river Godavari flows

Options :

1. 8 Two

2 ® Three
® Four

. & Five

wl

o

Question Number : 41 Question Id : 1241 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 42 Question Id : 1242 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



The Koya population is mostly spread in the district of
Options :

1. ® Nizamabad

2 % Nalgonda

3. W Khammarn

4. # Mahaboobnagar

Question Number : 42 Question Id : 1242 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 43 Question Id : 1243 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Bellampalli is known for

Options :
® Sugar Industry

- % Paper Industry

wopy =

& Iron ore
. % Coal Mines

AN

Question Number : 43 Question Id : 1243 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 44 Question Id : 1244 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Balasanthula is a

Options :

1. ® Dance form

2. W Caste group

3. % Child artists in Telangana

4. % River in Adilabad

Question Number : 44 Question Id : 1244 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 45 Question Id : 1245 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Thummidi Hatti is located in

Options :

1. ¥ Karnataka
#® Maharashtra
. ¥ Telangana

% Cdisha

[ vJ

w

o

Question Number : 45 Question Id : 1245 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 46 Question Id : 1246 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Koilsagar Irrigation Project is in
Options :
1. ¥ Nalgonda District
® Medak District
# Khamram District
. o€ Mahaboobnagar District

W

o

Question Number : 46 Question Id : 1246 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 47 Question Id : 1247 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Pranahita isa

Options :

1. ¥ River

2. ¥ Medical Schermne
3. ¥ Lake

4. ® Flower

Question Number : 47 Question Id : 1247 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 48 Question Id : 1248 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The Prohibition of Employment as Manual Scavengers and their Rehabilitation Act was passed in

Options :
1. ¥ 1950

2 ™ 1847
3. W 2013
4. & 2000

Question Number : 48 Question Id : 1248 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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T
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Question Number : 49 Question Id : 1249 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Rajiv Awas Yojana (RAY) does not envisage

Options :

1. ® A Slum free India



2. ® Inclusive and equitable cities
3. ® Access to decent shelter in cities
4. ¥ Provision of shelter in rural areas

Question Number : 49 Question Id : 1249 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 50 Question Id : 1250 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The author of Das Capital is

Options :
1. ¥ Adam Smith

2. € Karl Marx

3 *® Jermy Bentham
4 ® JF Keynes

Question Number : 50 Question Id : 1250 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 51 Question Id : 1251 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Aravind Panagariya is

Options :

1. ® CRI Director

2. ® Chief Justice of India

3. & Vice-Chairman of NITI Ayog

4 % REI Governor

Question Number : 51 Question Id : 1251 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 52 Question Id : 1252 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Bandhanisa

Options :

1. ¥ Radio Station

2. # Mountain Peak

. & Bank

% Hill Station

w

b

Question Number : 52 Question Id : 1252 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 53 Question Id : 1253 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Which is the primary sector of the Indian economy?

Options :

1. ™ Agriculture

P

® Industry
% Information Technology

LW

. ® Services

Question Number : 53 Question Id : 1253 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

2T E8 @fE Sg5Y @FEME oo A&7

Options :

5585@0500

1%

RYeCALY

_ ddorwrd FOoSHE Sleladnle

S}

W

den

Question Number : 54 Question Id : 1254 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The Food Security Act, 2013 is applicable to

Options :

1. ® 100% of the total population

2. ® 75 % of the Rural, 50% of the Urban Population
3. ® 50% of the rural and urban population

£

® Only to the population below poverty line

Question Number : 54 Question Id : 1254 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 55 Question Id : 1255 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The upper limit of the crop loan waiver scheme 2014-15 implemented by the Telangana Govenment is

Options :
. # Rs. 1,00,000

#® Rs. 1,50,000
# Rs. 50,000
® Rs. 75, 000

", .U_I N =

Question Number : 55 Question Id : 1255 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

N 85°.1,00,000

., & 1,50,000
, &». 50,000
_ &, 75,000

Question Number : 56 Question Id : 1256 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
According to 2011 Census, female literacy rate in Telangana is lowest in the district of

Options :

1. ® Adilabad

2. ® Nizamabad

3. ¥ Medak

4. ¥ Mahaboobnagar

Question Number : 56 Question Id : 1256 Question Type : MCQ Option Shuffling : No



Correct : 1.0 Wrong : 0.0
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Question Number : 57 Question Id : 1257 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Sex-ratio in Telangana is lowest in the district of

Options :

1. ® Ranga Reddy

2. ¥ Hyderabad

3. ¥ Mahaboobnagar

4. ® Nalgonda

Question Number : 57 Question Id : 1257 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 58 Question Id : 1258 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



The district with least percentage of urban population to its total population in Telangana as per 2011 Census
is

Options :

1. ® Nalgonda

2. % Khammam

3 & Medak

. ® Mahaboobnagar

o

Question Number : 58 Question Id : 1258 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 59 Question Id : 1259 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

An example of Allied Agriculture sector is

Options :

# Diary and Poultry

® Mining

w o H

#® Gal and Water Supply sector

-

# Banking and Insurance sector

Question Number : 59 Question Id : 1259 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 60 Question Id : 1260 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Who is the Director of the feature film Veera Telanganai'.

Options :

® Dasari Narayar Rao

N e

. ® R Narayana Moorthy

w

® B Narsing Rao

% Mrinal Sen

.Y

Question Number : 60 Question Id : 1260 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 61 Question Id : 1261 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Mulkanoor Co-operative Society is in the district of

Options :

1. ® Nizamabad

2. ¥ Karimnagar

3. ® Medak

4 ® Ranga Reddy

Question Number : 61 Question Id : 1261 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 62 Question Id : 1262 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

What was the name of the news paper edited by shoybulla khan
Options :

1. % Imroz

2. ® Rayyath

® Bhagyanagar

w

4 # Deccan Chronicle

Question Number : 62 Question Id : 1262 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 63 Question Id : 1263 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The village, Phanigiri is fomous for

Options :

1. ® Shiva Temple

2. % sri Rama Temple

3. % Buddhist Monurment

4. ® Jain Temple

Question Number : 63 Question Id : 1263 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 64 Question Id : 1264 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
‘Jala Drushyarn' in Hyderabad is a name of

Options :

1. % A Building

2. ® Water Park

3. ¥ A water project
4. ® A deer park

Question Number : 64 Question Id : 1264 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 65 Question Id : 1265 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Ramappa Temple is named after

Options :

1. ® Rama Pratapa Rudra, the ruler

2. ® Ramappa Pantulu, the priest



3. ¥ Ramappa, the sculptor
4 % Lord Sri Rama

Question Number : 65 Question Id : 1265 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 66 Question Id : 1266 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
In the Secunderabad Bonalu, the cooked food is offered to

Options :

1. ® Kali of kolkatha

2. & Mahankali of ujjaini
3. ® Renuka yellamma
4 % peddamma

Question Number : 66 Question Id : 1266 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 67 Question Id : 1267 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who was the first Mayor of Hyderabad Municipal Corporation after the formation of Andhra Pradesh?



Options :
1. ® Krishna Swamy Mudiraj

¥ Konda Laxman Bapuji
#® Madapati Hanumantha Rao

SN

#® Myadam Anjaiah

Question Number : 67 Question Id : 1267 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 68 Question Id : 1268 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The last day of Bathukamma is known as
Options :

¥ saddula Bathukamma

¥ Mahadeva Bathukarmma

N =

% Satya Bathukarnma

3
4. ® poorna Bathukamma

Question Number : 68 Question Id : 1268 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 69 Question Id : 1269 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Former Prime Minister Sri P.V. Narasimha Rao's auto-biography is published in Telugu as
Options :
1 ® Lopali Manishi

. ® Yelupali Manishi

PJ

W

. ® Manchi Manishi

% Manishilo Manishi

B

Question Number : 69 Question Id : 1269 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 70 Question Id : 1270 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Kaloji Naranyana Rao was conferred with
Options :
1. ® padma Sri
. ® padma Bhushan
. % padma Vibhushan
® Kala Prapurna

ra

Bow

Question Number : 70 Question Id : 1270 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 71 Question Id : 1271 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

A branch of Medical Science concerned with the study of outbreak of infections that affects people of an area
Options :

1. ® Epidemiology

2. ® Oncology

3. ® paleontology

4 *® pantology

Question Number : 71 Question Id : 1271 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 72 Question Id : 1272 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Who is the father of "Indian Monsoon Model" ?

Options :

1. ¥ Madhavan Nair

2. ® Vikram Sarabhai
3. M Vasanta Gowarikar
4 ® CR Rao

Question Number : 72 Question Id : 1272 Question Type : MCQ Option Shuffling : No



Correct : 1.0 Wrong : 0.0
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Question Number : 73 Question Id : 1273 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Wwhich planets do not have Satellites

Options :

1. ® Mars and Venus

2. ® Mercury and venus
3. ¥ Mars and Mercury

4. % Neptune and Pluto

Question Number : 73 Question Id : 1273 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 74 Question Id : 1274 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
which of the following does not contain silver

Options :
1. ® Horn silver
2 W German silver

3. # Ruby silver



4. ® [unar caustic

Question Number : 74 Question Id : 1274 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 75 Question Id : 1275 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0

India's first Remote Sensing Satellite (RSIA) was launched from

Options :

1. #® Sriharikota

2. ¥ Cape Kennedy

3 € BaiKanour

4. ® French Guiana

Question Number : 75 Question Id : 1275 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

1. ® Sriharikota

2 ® Cape Kennedy
3. ¥ RaiKanour

4. ® French Guiana

Question Number : 76 Question Id : 1276 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Which of the following is not a component of MS office?

Options :
1. ¥ MS Word
. % MS Excel
# MS Power Point
_ % MS Media Player

w M

B



Question Number : 76 Question Id : 1276 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Question Number : 77 Question Id : 1277 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
In the context of the environment, the term "dirty dozen" refers to

Options :
1. ® 12 most harmful green house gases

2. % 12 ozone depleting substances
3 &2 persistent organic pollutants

4. ¥ 12 countries spoiling oceans

Question Number : 77 Question Id : 1277 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 78 Question Id : 1278 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Gas hydrates found in deep sea are

Options :

1. ¥ Methane molecules trapped in ice



#® Butane molecules trapped in water

# Ethane molecules trapped in ice

WM

# propane molecules trapped in water

Question Number : 78 Question Id : 1278 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0
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Question Number : 79 Question Id : 1279 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0
Nandadevi Biosphere reserve is located in

Options :

1. ¥ Madhya Pradesh
2., Uttaranchal

3. # Chattisgarh

4. ® Telangana

Question Number : 79 Question Id : 1279 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 80 Question Id : 1280 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Magazine, "Down to Earth" is run by

Options :

1. # Centre for environmental concerns

2. , Centre for science and environment

3. ¥ Council of Scientific and Industrial Research (C5IR)

4. ® Ministry of Environment and Forests

Question Number : 80 Question Id : 1280 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 81 Question Id : 1281 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

which of the following sequences of waves occur in an earthquake?
Options :

1. & P waves, 'S' waves, surface waves

2. ¥ Surface waves, 'P' waves, 'S' waves

3. ® P waves, surface waves, 'S' waves
4

. ® 9 waves, 'P' waves, surface waves

Question Number : 81 Question Id : 1281 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 82 Question Id : 1282 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Which country is the world leader in the number of solar power systems installed per capita
Options :

1. ¥ USA

2. ® Norway

3. ® Argentina

4. &K Kenya

Question Number : 82 Question Id : 1282 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 83 Question Id : 1283 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
India has recently entered into a border accord with

Options :

1. ® Pakistan

2. % China

3. ¥ Bhutan

4. ¥ Bangladesh

Question Number : 83 Question Id : 1283 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 84 Question Id : 1284 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The following country is not a member of BRICS

Options :
1. ¥ Brazil

2 ® South Africa
3. %€ Indonesia
4. ® China

Question Number : 84 Question Id : 1284 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 85 Question Id : 1285 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Which International Organization has recently adopted International Yoga Day
Options :

1. 8 G-20

2. ¥ BRICS

3. ¥ SAARC

. W UNO

oo

Question Number : 85 Question Id : 1285 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

o, 8-20

. BRICS

. SAARC

, 98gTreg D&

w
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Question Number : 86 Question Id : 1286 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
F.LI denotes

Options :
1. ® Foreign Industrial Investrent

2. & Foreign Institutional Investor
3. ® Food Institute of India

4 ® Foreign Investors in India

Question Number : 86 Question Id : 1286 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 87 Question Id : 1287 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

European union at present consists of

Options :

1. ® 27 countries



2. W 22 countries
3. ® 30 countries
4. ® 29 countries

Question Number : 87 Question Id : 1287 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

L 27
« 28
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Question Number : 88 Question Id : 1288 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Indian Woman Badminton player ranked currently as world no. 1
Options :

1. ® sindhu P.V.

2. ¥ Jwala Gupta

3. ® Saina Nehwal

4. ® Ashwini Ponnappa

Question Number : 88 Question Id : 1288 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

2.6).00080

1 ®

58 e

2,

, O TS
B

B 3¢ 5‘3‘@%

Question Number : 89 Question Id : 1289 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



T -Hub means

Options :

1. % A tech incubator to assist startup companies by Telangana Governiment

2. % A cluster of tourism places in Telangana identified by Government of India

-

3. ® 4 chain of Irani Tea Stalls in Hyderabad
4. ® A popular cable T V. Network in Telangana

Question Number : 89 Question Id : 1289 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 90 Question Id : 1290 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Haritaharam programme intended to increase the forest area by
Options :

® 45%

2. ® 44%
3. ¢ 33%
4 ® 30%

—

Question Number : 90 Question Id : 1290 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 91 Question Id : 1291 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

Under kalyana Laxmi Scheme the financial support extended by the government to the poor brides is
Options :

1. ® Rs. 51,000

2. 8 Rs. 52,116

3. ¥ Rs. 55,000

4. 8 Rs 56,120

Question Number : 91 Question Id : 1291 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

. 91,000

i d]"’

6. 52,116
, &>, 55,000
6. 56,120

Question Number : 92 Question Id : 1292 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The winner of Pro-kabaddi league in 2015 is

Options :

# Bengaluru Bulls

. 8 U Mumbai

# Telugu Titans

® Dabang Delhi

wop =

-

Question Number : 92 Question Id : 1292 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 93 Question Id : 1293 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

In Telangana the Organisation TSTS is related to

Options :

1. ¥ Technology sources

2. ® Tourism services

3. & Technology services

4. ¥ Teachers services

Question Number : 93 Question Id : 1293 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

seomees® TSTS o3 éo‘(g 308 J020800H?

_ Gsyoe O
_ trB20 DO

2

s BB SO
) B3w58) OB

4.

Question Number : 94 Question Id : 1294 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

G.O. Ms. No. 111 refers to

Options :

1. ® Construction of high rise buildings around Hussain 5agar

2. ® Banning Construction activity in the catchment areas of Hirnayatsagar and Osmansagar

w

. ® Banning construction activity around Hussainsagar

o

# Banning cruelty towards wild animas

Question Number : 94 Question Id : 1294 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 95 Question Id : 1295 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

On which river, Kanthanapalli PI‘OjGCt is proposed to be built

Options :

. ® Krishna

b

2. % Manjeera
3. ¥ Shabari
4. < Godavari

Question Number : 95 Question Id : 1295 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 96 Question Id : 1296 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The Chief Minister who stated that the Water Grid programme is need to be implemented throughout the
country

Options :
1. ® Niteesh Kumar
2. W Akhilesh Yadav



3. ¥ Jaya Lalitha

4. % Biju Patnaik

Question Number : 96 Question Id : 1296 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 97 Question Id : 1297 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Oldage pension scheme of Telangana Government

Options :

1. ® Barosa
2. o Aasara
3. ¥ Sahaya

4. ¥ Punaravasa

Question Number : 97 Question Id : 1297 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 98 Question Id : 1298 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The patidari agitation in Gujarat is on the following issue

Options :

1. ® Land Acquisition

2. W Reservations

3. ® prohibition

4. % political empowerment

Question Number : 98 Question Id : 1298 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 99 Question Id : 1299 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

The concept of Provision of Urban Amenities in Rural Areas (PURA) was proposed by
Options :

1. ¥ Venkaiah Naidu

2 % Manmohan Singh

3 ® Narendra Modi

4 ® Dr AP ] Abdul Kalam

Question Number : 99 Question Id : 1299 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 100 Question Id : 1300 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The difference between land pooling and land acquisition is

Options :

1. ® Land pooling is voluntary and acquisition is involuntary

2. ® Land pooling is involuntary and Land acquisition is voluntary
3. ¥ Land pooling and Land Acquisition are voluntary

4 % Land Pooling and Land Acquisition are involuntary

Question Number : 100 Question Id : 1300 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 101 Question Id : 1301 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Mangalayan is

Options :

1. ¥ Indian Moon Mission

2. ¥ India's Mars Mission

3. ® India's proposed mission to Jupiter

4. ® Narne of the recently launched GSLY rocket

Question Number : 101 Question Id : 1301 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 102 Question Id : 1302 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Wwho got Arjuna Award for kabaddi

Options :

1. o Manjeeth chillar

2. % Rajeev Kumar

3. ® Nawvneeth Gouthamn
4

# Anoop Kumar

Question Number : 102 Question Id : 1302 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 103 Question Id : 1303 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Svetlana Alexievich won the Nobel Prize 2015 in
Options :

1. ® Medicine

2. ¥ Chernistry

3. ¥ Literature

4. ¥ peace

Question Number : 103 Question Id : 1303 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 104 Question Id : 1304 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
AP] Abdul Kalam served as President of India during

Options :

1. % 1992-1997
2 ¥ 2002-2007
3 % 1987-1992
4 % 1997-2002

Question Number : 104 Question Id : 1304 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

&) 50065 2.9.8.0206 ) ardE o HA HATT.

Options :

. 1992-1997

« 2002-2007
_ 1987-1992

. 1997-2002

M

Question Number : 105 Question Id : 1305 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Deciduousness is the characteristic of

Options :

1. o Monsoon Forest

. # Equatorial forest

W

& Temparate Forest

-

® Taiga forest

Question Number : 105 Question Id : 1305 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 106 Question Id : 1306 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Indus Gorge is an example of

Options :
1. ¥ Linear valley

2, Antecedent valley

b ]

3. ® Truncated valley

4 ® Depostional valley

Question Number : 106 Question Id : 1306 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

'R0 g BIE B ITrEen?

Options :
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4,

Question Number : 107 Question Id : 1307 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
Sorrow of Bihar is

Options :
1 & Kosi

2. ® Ramganga



3. ® Gandak

4 %® s5on

Question Number : 107 Question Id : 1307 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 108 Question Id : 1308 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Viticulture is related to

Options :

1. ® Grape vines

n

# Honey making

w

¥ Rubber making

W

% Sugarcane pulp

Question Number : 108 Question Id : 1308 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 109 Question Id : 1309 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



Mars is nick named as
Options :

1. ® Green planet

2 % Ringed planet

3. ¥ Red planet

4 # veiled planet

Question Number : 109 Question Id : 1309 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

oS8 (K708 S8 08a?

Options :

, @800 (Bero
o o
S8 o

R SSISVHTaESpte

Question Number : 110 Question Id : 1310 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0

Name of the constable shot himself for the cause of Telangana State
Options :

1. ® Kistaiah

2. ® Krishnaiah

3. ¥ Krishnamachari
4. ¥ Srikanthachari

Question Number : 110 Question Id : 1310 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 111 Question Id : 1311 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The author of recently published book Uniki' is
Options :
1. 3 Ch. Vidyasagar Rao
2. ¥ K Keshava Rao
® Juloori Gourishankar

3
4. ® Deshapati Srinivas

Question Number : 111 Question Id : 1311 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 112 Question Id : 1312 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Severe Acute Respiratory Syndrome (SARS) is caused by

Options :

1. ¥ Bacteria

2. ¥ Virus

3. ¥ Micoplasma

4. ® Fungi

Question Number : 112 Question Id : 1312 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Severe Acute Respiratory Syndrome (SARS) & 808 drQ008
TA5Q FuHehod?

Options :

drg)Bdeo (Bactera)

1 8



o V .
) wggéé:ooa (Virus)

2

r

_ Micoplasma

w

_39ogren (Fungi)

Question Number : 113 Question Id : 1313 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The best food source of vitamin D' is
Options :
% Beal
. € Solmon
® Carrots

—

w N

% Skinless chicken

.8

Question Number : 113 Question Id : 1313 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 114 Question Id : 1314 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Reading of a barometer going down is an indication of
Options :
® Snow

. ® Cold

—t

w rd

. ® Intense heat
. 9 Rainfall

o

Question Number : 114 Question Id : 1314 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 115 Question Id : 1315 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

What is the full form of IP?

Options :

1. ® Interface prograrmme

2. ® Interface protocol

3. ® Internet programrme

4. & Internet protocol

Question Number : 115 Question Id : 1315 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 116 Question Id : 1316 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

A device that converts digital signals to Analog signalsisa

Options :

1. ® packet

2. & Moderm

3. % block

4. 8 Chip

Question Number : 116 Question Id : 1316 Question Type : MCQ Option Shuffling : No



Correct : 1.0 Wrong : 0.0
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Options :
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Question Number : 117 Question Id : 1317 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The film 'Mandi' is made on the theme of

Options :

1. ® A story of grain market in warangal
2. % 4 story of girl child in Mumbai

3. ¢ A story of Brothel in Hyderabad

4. ® A story of prostitution in Kolkatta

Question Number : 117 Question Id : 1317 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 118 Question Id : 1318 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Jwala Mukhi is a

Options :

1. ® Pracheena Kavi

2. ® Digambara Kavi

3 ® Chetanavarthana Kavi



4 *® Bhava Kavi

Question Number : 118 Question Id : 1318 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 119 Question Id : 1319 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Writer of farmous novel 'Madhya Varhulu' is

Options :

1. o Allarn Rajaiah

# Allam Narayana

r

w

. ® Raghotham Reddy
4. ® Naveen

Question Number : 119 Question Id : 1319 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 120 Question Id : 1320 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The song 'Garadi Jesutundru' in Jai Bolo Telangana movie is written by
Options :
1. ® Goreti venkanna

w
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Question Number : 120 Question Id : 1320 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Question Number : 121 Question Id : 1321 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
_______ ink in my pen is red in colour.

Question Number : 121 Question Id : 1321 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
_______ ink in my pen is red in colour.

2. ¥ The
3 % 4
4 % Are

Question Number : 122 Question Id : 1322 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Our neighbours have ______ parrot as their pet.
Options :

1. ®an

2 ® the

3 M3

4. ® gre



Question Number : 122 Question Id : 1322 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Our neighbours have ______ parrot as their pet.
Options :

1. 8 an

2. ¥ the

3 &Ka

4 % are

Question Number : 123 Question Id : 1323 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

My sor is learning to play _____ violin at his school.

Options :

1. ® an

2 X the

3.8 3

4 % are

Question Number : 123 Question Id : 1323 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

My son is learning to play _____ violin at his school
Options :

1. % an

2 RKithe

3. %3

4. ® are

Question Number : 124 Question Id : 1324 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
______ in the report were presented in a clear way.

3. ® ideals
4. ¥ deate

Question Number : 124 Question Id : 1324 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The ... in the report were presented in a clear way.
Options :

1. ® ideas

2 % idea

3. #® ideals

4. % ideate

Question Number : 125 Question Id : 1325 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The data shows that the _____ of people accessing internet has increased.

Options :



1. ® numbers
* number
® numbering

w m

# nurnbered

NN

Question Number : 125 Question Id : 1325 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The data shows that the _____ of people accessing internet has increased.
Options :

1. ¥ numbers

& nurmver

w o

® numbering
® numbered

o

Question Number : 126 Question Id : 1326 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
The cost of one breakfast and one dinner is included in the

Options :

1. ® prices
. of price

® priced

HooWwM

® pricing

Question Number : 126 Question Id : 1326 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The cost of one breakfast and one dinner is included in the
Options :

1. ® prices

2. & price

3. ® priced

4. ® pricing

Question Number : 127 Question Id : 1327 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Millions of people in india _____ the World Cup Finalon TV.

Options :

1. ® watching

2. ® was watching

3. ® has been watching

4. ¥ watched

Question Number : 127 Question Id : 1327 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Millions of people in india the World Cup Finalon TV.

Options :
1. 8 watching
2. ¥ was watching

3. ¥ has been watching



4 9 watched

Question Number : 128 Question Id : 1328 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

This factory ______ some of the best watches in the world.

Options :

1. 9¢ manufactures

P

# peing manufactured

w

& manufacture

o

® manufacturing

Question Number : 128 Question Id : 1328 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

This factory ______ some of the best watches in the world.
Options :

1. ¥ manufactures

# peing manufactured

P

w

. ® rpanufacture

F 8

. % manufacturing

Question Number : 129 Question Id : 1329 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

My parents encouraged me to ____ this course
Options :

1.%¢ do

2 ® did

3. ® doing

4. ® done

Question Number : 129 Question Id : 1329 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
My parents encouraged me to ____ this course

Options :
1.3 do
2. % did
3. ¥ doing

4. ® done

Question Number : 130 Question Id : 1330 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

The price of the movie ticket
Options :

1. % are

2. ® am

3. ¥ were

4 ¥is

Question Number : 130 Question Id : 1330 Question Type : MCQ Option Shuffling : No



Correct : 1.0 Wrong : 0.0

The price of the movie ticket Rs. 75

Options :
1. ® are

2. % am
3. 8 were

4 o is

Question Number : 131 Question Id : 1331 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
There _______ fifteen mangoes in that basket

Options :
1. % was
2. % is
3. & were

4. ¥ am

Question Number : 131 Question Id : 1331 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
There _______ fifteen mangoes in that basket

Question Number : 132 Question Id : 1332 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

A football and a cricket bat _____ found in the sports room

Options :

1. % was

2. %5

3. % am

4. M were

Question Number : 132 Question Id : 1332 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

A football and a cricket bat
Options :

1. ® was

_____ found in the sports room

Z. ®as

3. % am
4. ¥ were

Question Number : 133 Question Id : 1333 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
There has been an increase the number of people buying flats

Options :



1. ¥ under

2. wWin

3 B of

4 & o

Question Number : 133 Question Id : 1333 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

There has been an increase _____ the number of people buying flats
Options :

1. ® under

2 ¥in

3. 8 of

4 % to

Question Number : 134 Question Id : 1334 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

I have decided to apply _____ that job which was advertised yesterday.
Options :

1. ¥ about

2 o for

3 ®In

® Under

o

Question Number : 134 Question Id : 1334 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

I have decided to apply
Options :
1. ® about

2. o for
3. % In

4. ¥ Under

_____ that job which was advertised yesterday.

Question Number : 135 Question Id : 1335 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

My husband is staying _____ my aunt while he is on a business trip in UK.
Options :

1. % yith

2 % on

3. 8 for

4 % in

Question Number : 135 Question Id : 1335 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
My husband is staying
Options :

1. 9 with

2. % on

3 ® for

_____ my aunt while he is on a business trip in UK.



Question Number : 136 Question Id : 1336 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.0

Directions: In the question below is given a statement followed by two assumptions numbered () and (I). An
assumption is something supposed or taken for granted. You have to consider the statement and the given
assumptions and decide which of the assurmnption(s) isjare implicit in the statement

Statement : Surrender your old vehicle and get up to Rs. 1.5 lakh as discount - Union Minister for Transport

Assumption I : The government is concerned about pollution caused by old vehicles
Assumption II : Government wants the car manufacturers to make huge profits

Options :

1. % Only assumption () is implicit
2. % Only assurnption (1) is implicit
3. ¥ Neither (1) nor (1) is implicit

4. ® Both () and (1) are implicit

Question Number : 136 Question Id : 1336 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Bruden: & HHS® 8 PHELS (Statement) $r8c8w Bodkd wTrDoND
®oTe)’ (Assumptions) RSgE00. 28 (HELS BT GHRTEDEIST
Qe erdod ®oTol rIold YoTIT &) I5N). WIS
WO BFEOTS @ELS BoHEo BMS08. NS DHELS Sodasw
2TrD0NS @oToR H8DN HELS BoLEAs V ®ofo B VoTw

aroBa @ o3 8oWod.
B80S QD FPS FEH0 VHNN0WoR. OENG Srarohv SEK
$002) F0oBoé -80S Sarer T Sod
D0Nd ®oFo-I: P Y S0l SO FLuRgo HEY DS BS*NH0.
A0S ®oFo-II: 57 SArdTrdHoth ©dE wraren Somrol Habds egvo.

Options :

_ @r00S ®oFo-| 075530
2PDOND ®OF0o-1I SR

. 2P0 ®WOF0-1 DDA Il 5°)

1



20N WOFO-1 B3 I

Question Number : 137 Question Id : 1337 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

In the question below is given a staternent, followed by two conclusions numbered () and (I). You have to
assume everything in the statement to be true, and then decide which of the two given conclusions logically
follow(s) beyond reasonable doubt, from the information given in the statement.

Statement : The researchers found that excessive internet use draws resources away from mental functions
that are essential for completing simple day-to-day tasks.

Conclusion I : One must avoid excessive use of internet
Conclusion II : A clear link exists between levels of engagement with internet and daily lapses in attention

Options :

1. ® Only conclusion () follows
2. 8 Only conclusion (1) follows
3. ® Neither () nor (1) follows
& Both () and (1) follows

o

Question Number : 137 Question Id : 1337 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

& DS 2.8 KD (Statement) LB Dok AFasren
(Conclusions) ®dgaa@on. R0 (H8L8 Frg Ao rdds o

Qasren ©HELS egrdormr $H0080 G ngor BoHadSS Hiowod.
8N Q0Lo8ILR0 B ST rdsero 505 Serard Hdoo

BAHENE BSCHD SrSvE ¥§ I)HenSr0odA HBFTEE ESand.
AGaso0-1: 3083 whEom K0 LT

Qgoso-Il: S ©F0B J5E STt J8 ST

ROLEIE AVRTHONE VS
PSS Sooo o

Options :

 Dgoso-1 SrED
. Qgadoo-li Qo830
QEo30-1 20803 Il 575



« f{)goﬁoo—l QB3 Il SrEe

Question Number : 138 Question Id : 1338 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: In the question below is given a statement followed by two courses of action numbered [ and II. &
course of action is a step or administrative decision to be taken for improvement, follow-up or further action
in regard to the problem, policy, etc. On the basis of the information given in the statement, you have to
assurme everything in the staterment to be true, and then decide which of the suggested courses of action
logically follow(s) for pursuing.

Statement : A large fully loaded truck overturned on the highway and the vehicular traffic has come to a
standstill.

Course of Action I : The concerned authorities should immediately clear the traffic.
Course of Action Il : Speed breakers should be placed at regular distance on highways to limit the speed of
vehicles

Options :

1. ® Only Course of Action () is suggested

2. ® Only Course of &ction (II) is suggested

3. ¥ Neither Course of Action () nor Course of Action (II) is suggested

4. ( Both Course of Action {) and Course of Action (1) are suggested

Question Number : 138 Question Id : 1338 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

drdden: 2i)d S w8 HELS (Statement) S28050 Bok

08 dobd $dgen ( Courses of action) adtaaon. B8 dedS $dg
DELSST D305 BB G0 EFYST Foa FoPgomsy $HBa%
®HE VLTS o d. (HELSS® 08 &) ®oTOH Jerwam rdoTd.
DELS8 SoB0%n BoE dedd FEgd H08D0ND DD DS

B0H3 AGASrd) 98 ddrerdomr HRowod.

DES: g rSrd08” QodS W T3 & e HEGL0 SOl ErhE
TR AONFo006.

BF500S $6g-1: H020s8 VHT G ErHsd Jod Edago BaSrd.
BB SO0 W8-S W& K WSO8 1B ég@@s DO"D&JJ ROSrd.,

Options :

BREHOVS FEg-1 STSE30 @ I8

1.
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Question Number : 139 Question Id : 1339 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: In making decision about important questions, it 1s desirable to be able to distinguish between
‘strong’ and ‘weak’ arguments so far as they are related to the question. ‘Strong’ arguments must be both
important and directly related to the question. "‘Weak’ arguments may not be directly related to the question
and may be of minor importance or may be related to the trivial aspects of the question.

The question below is followed by two arguments numbered () and (I). You have to decide which of the
arguments is strong and which 15 weak.

Should government provide tabs to all school children?

Argument | : Yes. In addition to effective learning, children will be relieved from carrying heavy school bags.
Argument II : No. Children will rmisuse the tabs.

Options :

1. % Only argument (1) is strong

2. ® Only argument (I) i5 strong

3 ® Neither argument (I) nor argument (1) is strong

4 % Both argument (1) and argument (1) are strong

Question Number : 139 Question Id : 1339 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
601 STED OIS
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Question Number : 140 Question Id : 1340 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: Given below is a pair of events () and {I). You have to read both the events () and () and decide
their nature of relationship.

Event-I: The number of diabetic patients consuming fenugreek seeds has gone up.

Event-II: Diabetic patients who consumed fenugreek seeds experienced improved health conditions during
experiments.

Options :
& (1) is the effect and () is its immediate and principal cause
® () is the immediate and principal cause and (I} is its effect

w o=

® 1) is an effect but () is not immediate and principal cause

=

® (1) i5 an effect but () is not its immediate and principal cause



Question Number : 140 Question Id : 1340 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Srdden: € 08 WS Do DoMtade HB8D0N T Jagg &)

sJeos g8 (cause and effect) dowoa ) Agonobod.

D0Dead-1 HIHE Aoy Blosootnd) daSrats & o dopg Wdhod.
D00EIS- 1 (HArE HB500500e5° DHEE Do KK BoSrHEs e
85 HgRB DEHHHEO.

QOMEIN-1 10927°00; A8 DTN 52800 D0DIEIS- I
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QOIS 2927°90; TS (IF°R TG00 D0NEIS-I
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Question Number : 141 Question Id : 1341 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

A man is facing East. He turns 60°in the clock-wise direction and then 105° in the anti-clock-wise direction.
Which direction he is facing now?

Options :

1. ® North

2. 8 North-East

3. ® East

4 % south-East

Question Number : 141 Question Id : 1341 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

28 $g8 SrENF WrdyaKy. B8 dSgHFS® 60° BOTE. & S
©H0Hg BFS® 106° BB, 2HYH & Sg§ ) BEYS WrHYI)E0?

Options :

_wgdo
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Question Number : 142 Question Id : 1342 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

If in a code language DENTALLY is written as BFMKSQQH and PARENT is written as CSGFMEK, then PENALTY
1S written as

Options :

1. ® CFNSQKY

2 9 CFMSQKH

. ® CMFSQKH
® CFSMKQH

w

o

Question Number : 142 Question Id : 1342 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

2,8 Simdg ariaes® DENTALLY o $HarQ) BFMKSQQM o, PARENT
©3 Herd) CSGFMT o ol PENALTY &3 Herd) dor w7

Options :

.. CFNSQKY
CFMSQKH
*

2.

~ CMFSQKM

3

CFSMKQH

4 ®

Question Number : 143 Question Id : 1343 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

If A > D?R < Pis true, then which of the following is not true?

Options :

1. D<A

2 8P>R

®R?D

®E >4

)

Question Number : 143 Question Id : 1343 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :
BRD<A

#P>R
®R7D
®R>a

fa—

won

NN

Question Number : 144 Question Id : 1344 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.0

If the alphabet is written in the reverse order, which will be the seventh letter to the right of P ?
Options :

1. 8]

%1

¥ H

8w

£ WO

Question Number : 144 Question Id : 1344 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Qofa Sg3re (alphalet) S0 308 00D B00EE T7ASELONS P!
©EI8 A3 G TS0S* ) ®FI0 woLoH?

Options :
1. 8]
8
® H
L

WM

LN

Question Number : 145 Question Id : 1345 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

There are 15 girls sitting in a row facing north. Kumari was shifted by three places towards her right. Now she
became 9th from the left end. What was her earlier position from the right end of the row?

Options :
1. 10
* 13
.® 1
® ¢

M

(¥}

b

Question Number : 145 Question Id : 1345 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

2,8 SV’ 15 Hod 2rd8en wEE HEY D WrBT. 58
G @;’éo L0000 SodHE) 5o Lo @gm@& B0PC0. FNYE Sodrd @;X)o

QB o0& FAGH ®oN0d. HEHE) od NI c?gc‘éoé”‘ 505778 3nEe &od?



Options :
1% 10
2. ® 153
3 % 11

4 8 g

Sub-Section Number: 2
Sub-Section Id: 14
Question Shuffling Allowed : No

Question Number : 146 Question Id : 1346 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: Study the following information carefully and answer the questions that follow.

In a state, Government recruited 8000 lecturers for teaching six different subjects viz. English,
Hindi, Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of
lecturers are recruited for teaching Mathematics. 25 percent of the total number of lecturers are
recruited for teaching Chemistry. Lecturers recruited for teaching Botany are two-third of the
number equal to the number of lecturers recruited for Mathematics. 15 percent of the remaining
teachers are recruited for teaching Hindi. Rest of the lecturers are equally distributed to teach the
remaining two subjects.

What is the respective ratio between the number of lecturers recruited for teaching Botany and the total
number lecturers recruited for teaching of Commerce and Chemistry together?

Options :

1. 8 580.37

2. W 8:37

3. ¥ 800:370
4. ¥ 300:3400

Question Number : 146 Question Id : 1346 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0



146-150 @)oo drdden
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Options :

1. 8 80:37
2 & 337

w

® 300:370
. ® R0o0:3400

£

Question Number : 147 Question Id : 1347 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: Study the following information carefully and answer the questions that follow.

In a state, Government recruited 8000 lecturers for teaching six different subjects viz. English,
Hindi, Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of
lecturers are recruited for teaching Mathematics. 25 percent of the total number of lecturers are
recruited for teaching Chemistry. Lecturers recruited for teaching Botany are two-third of the
number equal to the number of lecturers recruited for Mathematics. 15 percent of the remaining
teachers are recruited for teaching Hindi. Rest of the lecturers are equally distributed to teach the
remaining two subjects.

If 40 percent of the total number of teachers recruited for teaching English and Mathernatics together is male,
then what is the total number of female teachers recruited for teaching English and Mathematics together?

Options :

1. % 1470
2. ¥ 2900
3 %170
4 &K 1740

Question Number : 147 Question Id : 1347 Question Type : MCQ Option Shuffling : No



Correct : 1.0 Wrong : 0.0

146-150 @HoH drdden

& 808 RS5EAS Word HOEDON 146-150 RS dSrErdo oraLSB.
28 0°Hos* (Ehdto e HFFH (R0fR, rob, FdPelE), F°Ld, WY

508050 5°808)) H* QoW NS 8,000 Hod BEEH AdoN0d. JBS?
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Options :

1. 8 1470

2 % 2900

3 % 170

4 ® 1740

Question Number : 148 Question Id : 1348 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: Study the following information carefully and answer the questions that follow.

In a state, Government recruited 8000 lecturers for teaching six different subjects viz. English,
Hindi, Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of
lecturers are recruited for teaching Mathematics. 25 percent of the total number of lecturers are
recruited for teaching Chemistry. Lecturers recruited for teaching Botany are two-third of the
number equal to the number of lecturers recruited for Mathematics. 15 percent of the remaining
teachers are recruited for teaching Hindi. Rest of the lecturers are equally distributed to teach the
remaining two subjects.

The number of teachers recruited for teaching Mathematics is approximately what percentage of the total
nurmber of teachers recruited for Hindi and English together?

Options :
1. % g2
2 K52
3. % 44



4 ® 54

Question Number : 148 Question Id : 1348 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

146-150 (HHOH doruiden
& 8065 RSAS o°d HBEOON 146-150 HHH ddrerdo oroIBH.
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Options :
1. % g2
2 ,s52
3 % 44
4 % 54

Question Number : 149 Question Id : 1349 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Directions: Study the following information carefully and answer the questions that follow.

In a state, Government recruited 8000 lecturers for teaching six different subjects viz. English,
Hindi, Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of
lecturers are recruited for teaching Mathematics. 25 percent of the total number of lecturers are
recruited for teaching Chemistry. Lecturers recruited for teaching Botany are two-third of the
number equal to the number of lecturers recruited for Mathematics. 15 percent of the remaining
teachers are recruited for teaching Hindi. Rest of the lecturers are equally distributed to teach the
remaining two subjects.

What is the difference between the number of teachers recruited for teaching Chemistry and the number of
teachers recruited for teaching English?

Options :

1. % 1700
2. ® 3400
3. ® 500



4. ¥ 300

Question Number : 149 Question Id : 1349 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

146-150 HHos drude
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Onptions :

1. ® 1700
2. ® 3400
. 8 600
. ¥ 300

w

B

Question Number : 150 Question Id : 1350 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

Directions: Study the following information carefully and answer the questions that follow.

In a state, Government recruited 8000 lecturers for teaching six different subjects viz. English,
Hindi, Mathematics, Botany, Chemistry and Commerce. Fifteen percent of the total number of
lecturers are recruited for teaching Mathematics. 25 percent of the total number of lecturers are
recruited for teaching Chemistry. Lecturers recruited for teaching Botany are two-third of the
number equal to the number of lecturers recruited for Mathematics. 15 percent of the remaining
teachers are recruited for teaching Hindi. Rest of the lecturers are equally distributed to teach the
remaining two subjects.

What is the total number of lecturers recruited for teaching Hindi and English together?
Options :

1. & 2300

2. % 2100

3. ® 2000



4. % 2200

Question Number : 150 Question Id : 1350 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0
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Options :

1. ¥ 2300
® 2100
#® 2000
. ® 2200
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